
    –     

            
     

      
   

Let’s find the mean for the following stem –    

            

          

        

          

              

              

               

                 

 
𝑆𝑡𝑎𝑡 → 4 → 2𝑛𝑑 1 𝑒𝑛𝑡𝑒𝑟 → 𝑆𝑡𝑎𝑡 → 𝑒𝑑𝑖𝑡 

→ 𝑡𝑦𝑝𝑒 𝑖𝑛 𝑒𝑎𝑐ℎ 𝑣𝑎𝑙𝑢𝑒 → 𝑆𝑡𝑎𝑡 → 𝑐𝑎𝑙𝑐
→  1 − 𝑣𝑎𝑟 𝑠𝑡𝑎𝑡 → 2𝑛𝑑 1 (𝐿1 𝑖𝑛 𝐿𝑖𝑠𝑡)
→ 𝐹𝑟𝑒𝑞 𝐿𝑖𝑠𝑡 𝑙𝑒𝑎𝑣𝑒 𝑏𝑙𝑎𝑛𝑘 → 𝐸𝑛𝑡𝑒𝑟
→ 𝐶𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑒 → 𝑥 𝑖𝑠 𝑡ℎ𝑒 𝑚𝑒𝑎𝑛

 4|1  
 
  
 



Let’s measure 
         
              
  

   

 –    
   –      

           

Now let’s make a                    
    
         

     

                    

                      
              

              



 
              

       

     

      

   –     

       

         
       
         
    –  
   

 –     –   –       
  

Now let’s do it in the calc                
         –          
 

     

                  
            

       

       



     
    

Let’s look at this data and see what we can figure out. 
In 2017, AP Stat students asked “Who  more, male or females?”     
                  


               
                

            

The shape of the distribution of Connecticut is roughly symmetric while Maine 
incomes are slightly skewed right and Massachussettes has a stronger right skew. 

The center is the highest for Massachussettes, then Connecticut then Maine. 

The variability is the highest four Mass with Maine and Connec having similar 
spread. 

Main and Mass have a higher outlier, where Connec appears to have no outlier for 
income. 

Both tend to have a slightly skewed right shape. We would compare the median and 
the IQR to show spread. On average, it appears females Snap more. Over 50% of the
females snap more than 75% of the males. 




